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STANDARD LIFT DOORS

A common lift for residential projects. There is typically 12 inches of
headroom when using torsion springs, and 8.5" with extention springs.

Door is:

« Light (hot) off the floor

« Heavy at the top of opening
(Falls down when fully open)

O

POTENTIAL SOLUTION:
Spring(s) may be short causing
the spring to be too strong. The
door floats off the floor and there
is not enough turns on the spring
to keep the door open. Spring(s)
will need to be replaced.

Door is:

« Light (hot) off the floor

« Light (hot) when fully open
(Hard to close)

O

POTENTIAL SOLUTION:
There may be too many turns
on the spring(s). Check that the
spring(s) have the correct amount
of turns. If accurate, then the
springs are incorrect for the door.

Door is:

« Heavy to open off the floor

« Heavy in the opening
(Drifts back down)
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POTENTIAL SOLUTION:

» Not enough turns on spring(s)

- If turns are correct, and cable
length is accurate, then the
spring(s) are the wrong size
and need to be replaced.

Door is:

« Heavy to open off the floor

« Light in the open position
(Hard to close)
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POTENTIAL SOLUTION:

« Check the amount of turns on
the spring(s)

» |f too many, spring(s) could be
too long. Shorten spring(s) to
proper length and correct the
number of turns.

HI-LIFT DOORS

A modified garage door operating from a higher position allowing for

greater clearance. Perfect for taller vehicles and with car lifts, or whenever
additional space is needed.

Door is:

« Light (hot) off the floor

« Heavy at the top of opening
(Falls down when fully open)
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POTENTIAL SOLUTION:
Check the cable length. Cables
should move to flat part of the
drum when the top section
transfers to the horizontal track.

Door is:

« Light (hot) off the floor

« Light (hot) when fully open
(Hard to close).
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POTENTIAL SOLUTION:
Check that the spring(s) have
the correct amount of turns.
If accurate, then the springs are
incorrect for the door.

Door is:

« Heavy to open off the floor

« Heavy in the opening
(Drifts back down)
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POTENTIAL SOLUTION:

+ Not enough turns on the springs

- If correct, and the cable length
is accurate, then the spring(s)
are the wrong size and need to
be replaced.

Door is:

« Heavy to open off the floor

« Light in the open position
(Hard to close)
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POTENTIAL SOLUTION:
Check that the cable isn’t too
short. Cables should lay on the
flat part of the drum when door
section starts to transfer to the
horizontal track.



